
Serial No.4427-

Checked By:

     Tech

     Date

Box 1 - FI505 Wt: 1.8 lbs. Dim: 9.5"x7"x4"

Part No. Description Quantity Yes Remarks
1 FI505 Autopilot Course Error Meter 1
2 000-164-559 White Plastic Cover (surface mount) 1
3 100-340-471 Panel Remover Tool 1 sub CP26-0500
4 000-167-832 Flush Mounting Gasket 1 "
5 000-163-884 Self Tapping Screw 3x20 4 "
6 000-167-404 Spring Washer M3 2 "
7 000-167-453 Flat Washer M3 2 "
8 000-167-826 Wing Nut M3 2 "
9 000-167-804 Threaded Rod M3 x 40 2 "
10 000-166-949 .3M Chain Cable 1
11 C72-007-05Z "Internal Resistor Setting" Note 1
13 OSE-727-00Z Operator's Guide 1
14 OME-727-00Z Operator's Manual 1

rev 4-23-08

For Internal Use Only

PACKING LIST FOR FI505

FI505

Page 1 of 1


